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QUESTION 1

You have a Policy Modeling project with five attributes as shown below. 

Which one of these attributes compiles with the principles for writing attribute text? 

1.

 they are at least 100 feet away from the nearest intersection 

2.

 the persons aren\\'t coming to the meeting 

3.

 the weight of the box in kilograms 

4.

 the combined weight of the box and pallet must not exceed 200 kilograms 

5.

 there is no ways forward 

A. 2 

B. 5 

C. 1 

D. 3 

E. none 

F. 4 

Correct Answer: E 

Reference: https://www.oracle.com/technetwork/apps-tech/policy-
automation/learnmore/policymodelingbestpracticeguide-1371173.pdf (28) 

 

QUESTION 2

Your policy model has an entity of "the product". You want to display all of the names for products that cost over a
certain price on a form. You added the product name field. Which set of BI publisher features are required? 

A. Conditional Region, Repeating Group 

B. Conditional Region, Conditional Format 

C. Repeating Group, Conditional Format 
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D. Conditional Region, Table Wizard 

E. Repeating Group, Table Wizard 

Correct Answer: C 

Reference: https://www.oracle.com/technetwork/documentation/e54499-01-opm1045-2489551.pdf (331) 

 

QUESTION 3

After deploying a new version of a policy model to production on the Policy Automation Hub, you have been advised
there is a problem and you need to roll back to a previous version. 

Using the minimum number of steps, what instructions would you give your Hub Administrator to achieve this? 

A. Go the Repository page in the hub, click the policy model and delete the current version. 

B. Go the Deployments page in the hub, click the policy model and delete the current version. 

C. Go the Repository page in the hub, click the policy model, click Activate on the previous version. 

D. Go the Deployments page in the hub, click the policy model, click Activate on the previous version. 

E. Download the previous version from the Hub, open it in Policy Modeling and then upload and deploy it directly from
Policy Modeling. 

F. Go the Deployments page in the hub, click the policy model and select Deactivate from the Actions menu. 

Correct Answer: BD 

 

QUESTION 4

You wrote rules represented conceptually by the following rule diagram: 
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You build and run your entire set of rules in the Debugger. 

Which two methods can you use to test only the subset of five rules represented by the five black lines connecting the
attributes shown as orange circles? 

A. Set values for the lowermost blue triangle attributes via the data tab and then view the decision report for the
uppermost green square attribute. 

B. Investigate the uppermost orange circle attribute via the data tab and then set values for the lowermost orange circle
attributes via the decision tab. 

C. Set values for the lowermost orange circle attributes via the data tab and then view the decision report for the
uppermost orange circle attribute. 

D. Investigate the uppermost green square attribute via the data tab and then set values for the lowermost orange circle
attributes in the decision tab. 

E. Set values for the lowermost blue triangle attributes via the data tab and then view the decision report for the
uppermost orange circle attribute. 

F. Set values for the lowermost orange circle attributes via the data tab and then view the decision report for the
uppermost green square attribute. 

G. Investigate the uppermost orange circle attribute via the data tab and then set values for the base shown in the
decision tab. 

Correct Answer: BC 

 

QUESTION 5

You wrote this rule: 
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How many attributes does it contain? 

A. Three 

B. Ten 

C. Two 

D. Six E. Seven 

F. Five 

G. Nine 

H. Eight 

I. Four 

Correct Answer: G 

Reference: https://www.oracle.com/technetwork/apps-tech/policy-
automation/learnmore/policymodelingbestpracticeguide-1371173.pdf 
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